PrelB Chemistry: Final Exam Review Name:

Chapter 1 eﬁ@”\ W

1) Which of the following below is quantltatlve
Red smoke banana smell solid to liquid change

2) Put the following numbers into scientific notation

890000 « .00325 -3 22000 o
¥.Ax© 2,a5%x0 2.2x\0

3) How many significant figures are in: 0.0078 ./ 400 | 500.0 H 0.030 =2

4) What is the percent error if you calculate the density of aluminum to be 2.94 g/mL and the
theoretical density of aluminum is 2.70 g/mL? T %9 %

5) Is the data accurate, precise, or both?
Experimental data: 5.57, 5.56, 5.58 Theoretical value: 5.59

Chapter 2 both predise € acorade.

6) What is the density of an object if it has a mass of 28 grams and moves the water level from

45mLto 11.5mL? L{
3

Ml T
Chapter 3
7) Briefly describe the main idea of each scientist listed below:

y . di'sC A rwievs
Thomson ~ @h%%w Gy "‘Y‘h% exp - Rutherford - qg\d‘%u\ expP- di'scorered r
Mendeleev — @ rwBLd Rerodt c-abke. Bohr - t)\am-&a model of
Ocfomtc MOSs e Yot~

8) How many protons electrons and neutrons are in each of the following
24 Carbon-13 Fe' g
p=1% i B p=20 p=10
n= I n= "] n= 36 n= b
e= 10 e= (, e= o+ e= ¥

9) What is the average atomic mass of element “X” if it is 74% X-45, 18% X-46 and 8% X-47?

(5,54
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10) If carbon has a half-life of 5730 years, how much of a 800 grams sample will be left after

17190 years?
1004

11) What element has the electron configuration: Isz2sz2p5 F l Vorines

12) Which element has electron configuration nszﬁ Li @ Si F




Chapter 5

13) Which elements would have similar properties to Na?? Mg

14) What family of elements has 8 valence electrons?

Chapter 7

15) Name the following: _
sio, silicon diovtde

AlF;  alominven Fluaide
CLO7  4idnlorine heptoxide

16) Write the formula of the following:
Lithium nitride Liz ,\I

Iron (III) sulfide 'Fea SS

Magnesium hydroxide

J/\ﬂCbHﬁ

=3

®) %)

noble 36«5@5

MgN; mognesionn nihride
Cu0  Coppef () owde

N2Oy4 it r\‘\\h’ﬁc( o '\M\‘dﬁ

diphosphorus pentoxide

E0s

nitrogen tetroxide
NOy

hydrochloric acid w\

17) What happens to electrons in an ionic bond? "’Tar\%%n’dcovalent bond? 9 Mrcd

Chapter 8

18) Draw the Lewis Dot structure of the following elements:

Al *Ne

* L]

R J
H SAr?
a e

19) Draw the Lewis Dot structure of the following molecules and name the shape:

C
K —{lt- H
{edvaredva) 1
Chapter 9

BF;
R

« trigonal
: Qj\w{\f

NH;
H—N-H

) “+rtaoral
P rahr\\c\

20) What are the seven diatomic elements? 6; w7 ]\_J (A H o =

Complete the reaction, identify the type, & balance.
21)1ypes_O¥~  Tron (T bromide + Chlofine —

2 Fe By

23U, = QFCC\Q

+ 3B,

22) Type: [ 2& Calcium nitride + Potassium sulfide —

QBQ9+BKQS'%Q3@QSAQKQV




23) Type: D Lithium phOSphldC =

LigP > 3l + P

24) Type: S Aluminum + lodine —

Chapter 10

Find the percent composition of each element in the following compounds:
25)H3P0; %H= 3.b %P = 31.7% %0=_S5%9.56
26) CeH 1204 %C=40.0 %H= (0,071 %0=_53,3

27) Convert 52 liters of oxygen (O,) at STP to grams.

1AL, :lqﬁ

28) How many molecules are equivalent to 4.5 mol of glucose (CsH1206)?

2.7 | (O molecdes

Chapter 11

Use the reaction in the box below to answer questions #29-30

&7 ¢ T, W —— > 3C0, + 4H,0

29)If 128¢g of o&%e\n react with propane, how many grams of carbon dioxide will be produced?

105, (Oﬁ ’

30) If 3 moles of water were produced, how many moles of C3Hg were consumed?

O.75 mol
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31) Convert: 22°C = 2915 Kelvin

32) What are the three characteristics of a catalyst?
Speds up o reacho, lowess actvation ermy,
s not vsed vp




33) Define: “absolute zero” __ Q\\ moterayr mokn S’mgs; O keWMn o —273°%C

34) Identify the energy curves as endothermic or exothermic. Describe what happens to energy.

Energy

N

—_ ———
Reaction Progress Reaction Progress

Type: cndntrermiC e xOrermic
Energy: anhsoroeo) released

35) Define: sublimation= <ol\id -—?8}0\5 condensation= 3q5 —_ l(qu{d

36) The specific heat of aluminum is 0.900 gl_c'c . How much heat is required to raise the

temperature of a 55.0 g block of aluminum from 35.0°C to 95.0°C?
= C AT -
H=po 2977033
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37) A balloon has a volume of 8 liters with a pressure of 770 mmHg. If the pressure is decreased
to 630 mmHg, what is the new volume of the balloon?

Q.15

38)In a closed system, 176 g of CO, is in a container with a volume of 4.5 L
and a temperature of 35°C. What is the pressure of this system in kPa?

2275, 09 tPa

39) A tire starts off with a volume of 3.5 L at a temperature of 35°C. What will be the new
volume if the temperature of the tire increases to 65°C?

3. 74 L

Chapter 15
40) How many grams of H,SOy are required to make 3 liters of a 0.40 M solution of H,SO4?

H'/.(os/g'

41) What is the final concentration if 300.0 mL of a 2.0 M HCl solution are diluted to 800.0 mL?
OIS M

42) Briefly explain why water and oil do not mix. *\i¢2 diSSaves e " — Wakris polar

dil is nonpoy

Chapter 18
43) Define pH: \\\\)\)dﬂ)g@{\im (H“\J nendmon




